
     1 Drive Mandrel           1 Square Key 2.700”    1 Pulley, V-Belt 4”    1  SHCS 7/16-20 x 2.000 
     3 SHCS 3/8"-16x1”      1 Pulley V-Belt 2-1/2”   2 Spacer 1/4”            1 Stepped Steel Washer 
     1 Drive Gear 16 T        3 SHCS 3/8”-24 x 1.      1 Washer .509 I.D.     2 Belt Guides .062” 
     1 Bolt 1/2” x 2-3/4”      3  SHCS 3/8-16x1.5”     1 Crank Bolt Washer 
     

Parts List 
     1 Drive Mandrel           1 Square Key 2.700”    1 Pulley, V-Belt 4”    1  SHCS 7/16-20 x 2.000 
     3 SHCS 3/8"-16x1”      1 Pulley V-Belt 2-1/2”   2 Spacer 1/4”            1 Stepped Steel Washer 
     1 Drive Gear 16 T        3 SHCS 3/8”-24 x 1.      1 Washer .509 I.D.     2 Belt Guides .062” 
     1 Bolt 1/2” x 2-3/4”      3  SHCS 3/8-16x1.5”     1 Crank Bolt Washer  

Parts List 

This Drive Kit is designed to work with a Moroso Dry Sump Pump, Vacuum 
Pump and an alternator or any combination of either 

  
                                                   
 

 
        

 
 
 
 
 
 
 

 

 

 

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time 

V i s i t  U s  A t  w w w . m o r o s o . c o m 

Drive Kit, Short Mandrel - SBC 
P/N 63857 

Rev.B 
042715

MOROSO PERFORMANCE PRODUCTS, INC 
80 CARTER DR  GUILFORD, CT 06437 

Phone: (203) 453-6571  FAX (203) 453-6906 

63857INST 

For Technical Assistance, Call Moroso’s Tech Line at 
(203) 458-0542, 458-0546 8:30am – 5:00pm Eastern Time 

V i s i t  U s  A t  w w w . m o r o s o . c o m 

Drive Kit, Short Mandrel - SBC 
P/N 63857 

Rev. B 
042715 

MOROSO PERFORMANCE PRODUCTS, INC 
80 CARTER DR  GUILFORD, CT 06437 

Phone: (203) 453-6571  FAX (203) 453-6906 

63857INST 

  This Drive Kit is designed to work with a Moroso Dry Sump Pump, Vacuum    
  Pump and an alternator or any combination of either.  
   


